Fluorine Chlorine

Valence electron in E level Valence electron in E level
# of protons = # of protons =

Fluorine Chlorine
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# of protons = q # of protons = _‘L




Lithium Carbon

Valence electron in E level Valence electron in E level
# of protons = # of protons =

Lithium Carbon
Valence electron in & E level Valence electron in 2— E level

# of protons = i # of protons = _L
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Boron Oxygen

# of E levels = # of E levels =
#ofprotons=__ # of protons =

Boron Oxygen
#ofE levels= £ 4of E levels = &

# of protons = g # of protons =




Nitrogen Phosphorus

# of E levels = # of E levels =
#ofprotons=__ # of protons =

Nitrogen Phosphorus

#OfElevels=_Z- # O E levels = __
# of protons = 7 # of protons = _L
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